11@29 (Kl 1&29)

Linearized knot diagam

Solving Sequence

1 1,5—>2— —> 00— ( — 4 — 8§ — c3,C7,C
A knot dlagranﬂ a5 1 2 s 3a9 cs 6 o 7 co 10 ca 4 cs 8 cn 11 —> €3,C7,C10

Ideals for irreducible component#ﬂ)f Xpar
I = (4.99106 x 10°%u%° — 5.54013 x 10°%u™ + - - + 3.76009 x 10°7b — 3.71146 x 10°7,
—3.10364 x 10°7u%° + 5.28988 x 1057w 4 -+ + 1.12803 x 10°%a — 3.91838 x 10°%, u%' —3u%° + ... — 5u -

I ={(3b+2u—2, a+1, u* +u+1)
IP=3b—2u—1, a+u, u> +u+1)

* 3 irreducible components of dim¢ = 0, with total 65 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I.
= (4.99 x 10%6450 —5.54 X 1056u5% 4. .. +3.76 x 1057b—3.71 X 1057, —3.10 x
1057ub°4+5.29x 107459+ . . 4+1.13x 10°8a—3.92x 10°8, u®1 —3u®0+...—5u+9)

(i) Arc colorings

1
ayp =
0
a5 = U
1
U
u? 4+ )
0. 275139u60 — 0.468950u°% 4 - - - + 4.47285u + 3.47366
—0.132738u50 + 0.147340u5° + - - - — 4.15830u + 0.987068

a9 =
az =

ag =

1.11106u5° — 2.61700u" + - - - + 5.79571u — 5.77693
ag = \ —0.595122u50 + 2.16473u5 + - - - + 2.14031u + 12.7347

0.302897u%° — 0.758393u% + - - - + 2.22294u — 1.51536
a7 = \ —0.161015u% + 0.635343u5° + - - - + 2.73852u + 5.59822

0.327154u8% — 0.474281u°° + - - - + 10.9343u + 2.92153
—0.507182u%0 4 1.24714u5° + - - - — 4.55730u + 2.94439

ud +u>

0.849189u%° — 1.82096u°? + - - - + 7.07757u + 2.72833
—0.575418u5%0 + 1.58164u%° + - - - — 3.44728u + 5.06368

—0.289728u°" 4 0.616900u™ + - - - + 6.66475u + 2.26231
0.0110587u%® — 0.250053u’? 4 - - - — 0.805308u — 1.89157

—0.289728u% 4 0.616900u°% + - - - + 6.66475u + 2.26231
ann =\ 0.0110587u%0 — 0.250053u% + - - - — 0.805308u — 1.89157

ail =

(ii) Obstruction class = —1

(iii) Cusp Shapes = 1.51281u50 — 3.43786u" + - - - + 30.9340u — 2.78257



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cy wt +3u0 - —Bu—9
C2 ut +210%0 4 .. — 1505u — 81
€3 ut — 3uSY ... — 18720 + 432
Cs,Cy ubt —3u . 4 3u—1
Ce 9(9u®t — 30u®” + - - - + 293350u — 68375)
c7,C10, C11 w —3u0 . 4 3u—1
Cs 9(9u" + 57u® + - - — 10059u — 2801)




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4 y%t +219%0 + ... — 1505y — 81
C2 Y% +41y%° + ... + 37363y — 6561
€3 y% —25¢y% + ... 4+ 1897344y — 186624
Cs,Cy Yol — 39950 ... 13y — 1
Co 81(81y5" + 3546y% + - .- —9.00135 x 10*% — 4.67514 x 10?)
¢7, €10, C11 Y 61y - 13y —1
Cs 81(81y5! —2259y% + ... +1.36190 x 108y — 7845601)




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C5)

Cusp shape

0.627295 + 0.7811781
0.779915 + 0.9384601
= —0.133545 — 0.8689851

0.680796 — 0.4887881

8.37952 4 2.333141

= 0.627295 — 0.7811781
= 0.779915 — 0.9384601
= —0.133545 + 0.8689851

0.680796 + 0.4887881

8.37952 — 2.333141

= —0.909616 + 0.4685931
= —1.059460 — 0.5022241
= 1.43290 — 0.757841

4.73566 — 1.676441

12.36420 4 3.792781

= —0.909616 — 0.4685931
= —1.059460 + 0.5022241
= 1.43290 + 0.757841

4.73566 + 1.676441

12.36420 — 3.792781

= 0.823832 4 0.6417561
—0.493457 — 0.8675971
0.171205 + 0.6135861

8.40390 — 4.083281

6.32782 + 2.170051

0.823832 — 0.6417561
= —0.493457 + 0.8675971
= 0.171205 — 0.6135861

8.40390 + 4.083281

6.32782 — 2.170051

= 0.084826 + 0.9510961
0.768701 — 0.3555621
= —0.926574 — 0.5901191

—3.04092 — 0.554871

—5.63926 + 1.547851

0.084826 — 0.9510961
0.768701 + 0.3555621
—0.926574 4 0.5901191

—3.04092 + 0.554871

—5.63926 — 1.547851

0.745313 + 0.7348341

= —0.69455 + 1.280091 5.33189 — 0.623571 6.90078 4- 0.1
= 1.59810 + 0.547711

= 0.745313 — 0.7348341

= —0.69455 — 1.280091 5.33189 4 0.623571 6.90078 4- 0.1

> Q@ €|l & €| & €| & €| & | @ 8| & €|l & €|l & €| & &
I

= 1.59810 — 0.547711




Solutions to I}

V=1(vol + y=1C)

Cusp shape

u = —0.592571 4 0.8689661
0.643580 + 0.8210691
b= —3.23298 + 1.506581

a =

2.11702 — 2.339421

—10.06681 — 7.069561

u = —0.592571 — 0.8689661
0.643580 — 0.8210691
b= —3.23298 — 1.506581

a =

2.11702 4 2.339421

—10.06681 +- 7.06956.1

0.869096 + 0.6123821
= 0.840207 — 1.0891601
—1.66751 — 0.621481

S
|

5.98865 — 5.780691

6.25624 4 4.523121

0.869096 — 0.6123821
0.840207 + 1.0891601
—1.66751 + 0.621481

5.98865 + 5.780691

6.25624 — 4.523121

—0.510457 4 0.9481041
0.221723 — 0.0951631
—0.197711 — 0.400616.1

—0.17638 — 2.594221

—0.510457 — 0.9481041
0.221723 + 0.0951631
—0.197711 4 0.400616.1

—0.17638 4 2.594221

0.642563 + 0.9368201
—0.882906 — 0.6308141
0.433541 + 0.9162191

0.17275 4 5.475101

0.642563 — 0.9368201
—0.882906 + 0.6308141
0.433541 — 0.9162191

0.17275 — 5.475101

0.318467 + 0.7976071
—1.256550 + 0.4014711
1.24853 + 0.723681

—0.53178 4 3.551281

—1.97116 + 0.538221

0.318467 — 0.7976071
—1.256550 — 0.4014711
1.24853 — 0.723681

> Q& €|l & €| & €| Q& | Q& 8| Q@ 8| & | ©
I

—0.53178 — 3.551281

—1.97116 — 0.538221




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

u = —0.541792 4+ 0.6663281
—0.443464 — 0.7207471
b= —1.80634 + 0.476531

6.77383 — 1.396001

1.94563 + 3.093961

uw = —0.541792 — 0.6663281
a = —0.443464 + 0.7207471
b= —1.80634 — 0.476531

6.77383 + 1.396001

1.94563 — 3.093961

uw = —0.105247 + 1.1366501

a = —0.528868 + 0.2174281 1.89473 — 3.392411 0
b= 0.733637 + 0.6074581

= —0.105247 — 1.1366501

= —0.528868 — 0.2174281 1.89473 + 3.392411 0

0.733637 — 0.6074581

—0.430215 + 0.7426581
= 0.120777 4+ 0.4301671
0.656197 — 0.1510231

0.53014 — 1.406931

5.62347 4 5.204971

—0.430215 — 0.7426581
0.120777 — 0.4301671
0.656197 + 0.1510231

0.53014 + 1.406931

5.62347 — 5.204971

0.769003 + 0.8458511

—2.31477 4 0.566101

= 1.196660 — 0.4976191 11.92950 + 1.963011 0
= —2.31477 — 0.566101

= 0.769003 — 0.8458511

= 1.196660 + 0.4976191 11.92950 — 1.963011 0

—0.035967 + 0.8548141
0.563353 + 0.9596611
—0.057385 — 0.5681561

0.13425 — 1.523581

1.52672 + 2.128461

—0.035967 — 0.8548141
0.563353 — 0.9596611
—0.057385 4 0.5681561

u
a
b
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b

0.13425 + 1.523581

1.52672 — 2.128461




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

0.757313 + 0.8952851
0.456980 — 1.2277601
—1.41876 — 0.530711

11.77860 + 3.792471

0.757313 — 0.8952851
0.456980 + 1.2277601
—1.41876 + 0.530711

11.77860 — 3.792471

1.008640 + 0.6093711
—0.801725 + 0.9333711
1.70920 + 0.697801

13.1909 — 9.28731

1.008640 — 0.6093711
= —0.801725 — 0.9333711
1.70920 — 0.697801

13.1909 + 9.28731

0.699249 + 0.9679061
—1.098020 + 0.6641091
2.41658 +- 0.733641

4.62247 4 6.130621

0.699249 — 0.9679061
—1.098020 — 0.6641091
2.41658 — 0.733641

4.62247 — 6.130621

—0.312667 + 0.7365731
—0.52054 — 1.367291
—0.76632 — 2.470251

6.16730 — 1.447951

6.66665 + 4.191321

—0.312667 — 0.7365731
—0.52054 + 1.367291
—0.76632 4 2.470251

6.16730 + 1.447951

6.66665 — 4.191321

—0.141017 4 1.1969101

= —0.409903 — 0.8384321 | —1.00556 — 4.644771 0
= 0.617600 + 0.0238761
= —0.141017 — 1.1969101
= —0.409903 + 0.8384321 | —1.00556 + 4.644771 0

> Q& €| & €|l & €| Q& €| &) Q@ 8| @ €|l & €|l & &> & &
I

0.617600 — 0.0238761




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.657124 4+ 1.0175301
—0.322773 4 0.0514131
0.113526 + 0.6959261

5.54533 — 3.619151

—0.657124 — 1.0175301
—0.322773 — 0.0514131
0.113526 — 0.6959261

5.54533 + 3.619151

0.711728 + 1.0369801
0.745027 + 0.5046671
—0.521745 — 0.7789891

7.21133 4 9.841591

0.711728 — 1.0369801
0.745027 — 0.5046671
—0.521745 4 0.7789891

7.21133 — 9.841591

—0.602854 + 0.4152441
—0.754289 — 0.1332081
—0.631853 + 0.7128741

6.86257 — 1.405241

4.78353 + 3.772191

—0.602854 — 0.4152441
—0.754289 + 0.1332081
—0.631853 — 0.7128741

6.86257 4 1.405241

4.78353 — 3.772191

0.717435 + 1.0628901
0.966509 — 0.6634601
—2.53101 — 0.759501

4.62032 4 11.671401

0.717435 — 1.0628901
0.966509 + 0.6634601
—2.53101 + 0.759501

4.62032 — 11.671401

—0.736476 4 1.0809401
—0.590572 — 0.6613231
2.05889 — 0.643461

2.98645 — 4.334851

—0.736476 — 1.0809401
= —0.590572 4+ 0.6613231
2.05889 +- 0.643461

> Q& €| & €|l & €| Q& €| 2 &) Q@ &l Q@ €|l & €|l & &> & &
I

2.98645 + 4.334851




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u= 0.762794 + 1.1224401
a = —0.897935 + 0.6164551
b 2.61369 + 0.742701

11.5735 + 15.71811

U 0.762794 — 1.1224401
a = —0.897935 — 0.6164551
b= 2.61369 — 0.742701

11.5735 — 15.71811

u = —1.265180 + 0.4911291
a= 0.862536 + 0.2964721
= —1.81507 4 0.524941

11.53690 — 2.053531

u = —1.265180 — 0.4911297
= 0.862536 — 0.2964721
= —1.81507 — 0.524941

11.53690 + 2.053531

u = —0.23194 + 1.395781
0.368146 + 0.7554571
= —0.844858 + 0.4056841

4.72211 — 7.081061

—0.23194 — 1.395781
0.368146 — 0.7554571
—0.844858 — 0.4056841

4.72211 + 7.081061

= —0.91950 + 1.213281
= 0.561522 + 0.5644251
= —1.88530 + 0.806081

9.38339 — 5.571071

= 0.561522 — 0.5644251
= —1.88530 — 0.806081

9.38339 + 5.571071

= —0.408049
= 2.87652
= —0.0942688

2.58372

0.156380

= 0.159087 + 0.3500601
= 0.83224 + 1.416111

a
b
U
a
b
U
a
b
u = —0.91950 — 1.213281
a
b
u
a
b
U
a
b= 0.161959 — 0.4896601

0.145306 — 1.1985001

1.41714 + 6.056421
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Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

0.159087 — 0.350060.1
0.83224 — 1.416111
0.161959 + 0.4896601

0.145306 + 1.1985001

1.41714 — 6.056421

11



IL IY=3b+2u—2,a+1, u>+u+1)

(i) Arc colorings

1
ay = O

a5 =
a9 =
az =

ag =

a7 =

(
(
(
(
v (Lon
(
(
(
(
(

(ii) Obstruction class =1

(iii) Cusp Shapes = 8u + 2

12



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy

C1,C2,Cs u2+u—|—1

€10, C11

c3 u2
2 1

Cy4,C7,C9 ut —u+

6, C8 3(3u® +3u+1)

13



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C4
Cs,C7,Cg y2+y+1
€10, C11
c3 y2
C6, Cs 9(9y* — 3y + 1)

14



(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol +/—=1C8S) Cusp shape
u = —0.500000 + 0.8660257
a = —1.00000 —4.059771 5.33333 + 6.928201
b= 1.000000 — 0.5773501
u = —0.500000 — 0.8660251
a = —1.00000 4.059771 5.33333 — 6.928201

b= 1.000000 + 0.5773501

15



L Iy =3b—2u—1, a+u, u> +u+1)

(i) Arc colorings

1
ayp = O
0
a5: u
1
a2 = \y+1
—u
a3 = \u—+1
—u
o= \gu+
1
%= \gu—}
—%u-i—%
a?— u
—2u—1
ajp = u+ 2
—U
a4 u—+1
5 1
—3uT3
ag = u—+1
f%qu%
ail = u+1

(ii) Obstruction class =1

wlut

(iii) Cusp Shapes = Su +
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,Cs5 u2+u—|—1
€10, C11
c3 u2
C4,C7,C9 u? —u+1
Co 3(3u® 4 1)
C8 3(3u® — 3u +1)
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C4
Cs,C7,Cg y2+y+1
€10, C11
c3 y2
c6 9(3y +1)°
c8 9(9y* — 3y + 1)
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol +/—=1C8S) Cusp shape
u = —0.500000 + 0.8660257
a = 0.500000 — 0.8660251 0 0.33333 + 2.309401
b= 0.5773501
u = —0.500000 — 0.8660257
a = 0.500000 + 0.8660251 0 0.33333 — 2.309401
b= — 0.5773501

19



IV. u-Polynomials

Crossings u-Polynomials at each crossing

1 ((u® +u+1)%) (" +3u® + -+ — 5u—9)
€2 ((u? 4+ u+ 1)) (u® + 216 + - -+ — 1505u — 81)
€3 ut (u®t — 3u® + - — 1872u + 432)
€4 (u? —u+ 1)) (u® +3u + -+ — 5u —9)
Cs (W2 +u+ 1)) —3u 4+ 3u—1)
Co 81(3u? + 1)(3u® 4 3u + 1)(9u®" — 301 + - - - + 293350u — 68375)
cr (u? —u+ 1)) —3u° + - +3u—1)
Cg 81(3u? — 3u + 1)(3u? + 3u + 1) (9ub! 4+ 57u + .. — 10059u — 2801)
Cy ((u27u+1)2)(u6173u60+.”+3u71)

€10, €11 (u? +u+ 1)) Wb —3u + - 4+ 3u—1)
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V. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, 4 (% +y + 1)) (% + 2155 + - — 1505y — 81)
“2 (% +y+ 1)) (" + 41y + - 4 37363y — 6561)
€3 yt (Y5t — 25¢%° + ... + 1897344y — 186624)
€5, Co (P +y+ D) =390+ =13y — 1)
cs 6561(3y + 1)%(9y* — 3y + 1)
- (8181 + 3546y5° 4 - - - — 90013453750y — 4675140625)
€7, €10, C11 (VP +y+ D) +61y°0 + - =13y — 1)
cs 6561(9y% — 3y + 1)*

- (81y5' —2259y%° + .. 4 136190379y — 7845601)
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